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Combined Graduate Level Examination-2019 (Tier-1)

[Roll Number

Candidate Name

Venue Name Vivekananda Global University
Exam Date 06/03/2020

Exam Time 1:00 PM - 2:00 PM

Subject CGLE Tier |

Section : General Intelligence and Reasoning
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< 4 uT, @Edr, TTEER

Ans

Question ID : 816161350
Status : Answered
Chosen Option : 1
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X 4
g loe

Question ID : 816161348
Status : Answered
Chosen Option : 1

3 Cr=fafEa gwer & woF Rea (2) A FF S T T FOTTT L
11, 12, 36, 41, ?, 266
Ans of 1. 287
<2123
<3 48
< 4 205

Question ID : 816161337
Status : Answered
Chosen Option: 2
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gmT # 'BRAVE' Hwr frgr seem?

Q4 i fafeea e oo &, 'VERBAL' &1 'QNMYXK' 3l 'REACH' ® 'MNXZF' frar =er 31 5%

Ans 1. KQNMX

< 2 YNXQM

< 3 KMQXN

v 4 YMXQN

Question ID : 816161332
Status : Answered
Chosen Option : 4

Q.5

Ans

fw v FEt At frwdt # aaw ¥ ) 3@ AW g R owve A & o S wey 8, s &
¥ 3w ok W ruiliE axat @ B R o & o7 T & wiF o et e w8 =
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Question ID : 816161336

Status : Answered
en Option: 3

Ans

Q.6 37 fawed F1 Tuw &, o et # 3vw § 9@ dey ¥, A A U v ageay $r gemst &
= 8

(343, 98, 21)

X 1. (1728, 288, 24)
X2 (512, 126, 27)
v 3 (1331, 242, 33)
X4 (217, 72, 18)

Qu

estionID : 816161340
Status : Answered

Chosen Option : 4
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Ans

Ko m"&
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Question ID : 816161344
Status : Answered
Chosen Option: 3

Q.8 fah Wf¥a 3z oo , BREATHER #t 20512850 foram =mam &1 39 #1971 & AVIATION =t 3 forar
FATTET?

Ans X1 12912954
< 2 14912956
X 312910965
v 4 14912965

Question ID: 816161333
Status : Answered
Chosen Option : 4
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Question ID : 816161346
Status : Answered
Chosen Option: 3

Q.10 3eRi & 3@ ¥ 1 90F F1, T 30T gmer A Nod U= W F3F &7 oY FT 9T 4@er 7ir @
Enaill
_m_In_mimnk_k_nl

Ans . Lem: e Lon
X2k |, kl, m
A3am, n kL m
vik n k I, m

Question ID : 816161334
Status : Answered
Chosen Option : 4
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Q11 Fwmat & o8 7w R aw §, Twd @ O o 7 o e @ we € st o A §l e
A HEIT-JFH F T4T F

Ans 1. 28,5
X2 14,8
X 5 56,2
< 416,7

Question ID : 816161339
Status : Answered
Chosen Option : 4

Q.12 ar yer-ag fow v & e @ O fRh 7 R wE e € i oE smee ) e s
IT-THE & AT F

Ans 1. VINE
X 2 LAIM
v 2 SWUIK
X 4 NOHA

Question ID : 816161328
Status : Answered
Chosen Option: 3

U1 Crafafee suer & SR (2) 1 P A a0 ST A9 H
gDx, nHs, kLn, hPi, ?

Ans X 1. @Sd
v 2 eTd
< 3 fTe
& 4 EtD

Question ID : 816161326
Status : Answered
Chosen Option : 2
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Q.14 s & #F &= fw, K, L it M 85 & 3700 sitwa amg 24 a9 &1 vF 3 B N 3
anfdrer g & HR 3w A% e sy 23 3§ @ e §) 3fy i aew e R, TR g N
F2 9% = & K S oem & & LM, N 3T R #r st g 225 a¥ & S & K
&r 3Ty T §2

e X122 7€
v'2 24 3§
X3 20 a¥
X4 25 ¢

Question ID : 816161343
Status : Answered
Chosen Option : 2

8 gy s 3 e Pager #2

ans X120
v 22
X3 23
X418

Question ID : 816161345
Status : Answered
Chosen Option : 2

Q.16 ofy Te=faflm =l & 399 4T weawy § 3 & FAGER coaftus fRr o & & #a w e
HIFH H IEE T 9 A

=

. Weekly
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. Weird

. Weaver
. Weight

. Wielded

Ans X 1. Weight
# 2. Wielded
v 3 Weird
< 2 Weekly

[>T 6 1 B 2 N B

Question ID : 816161327
Status : Answered
Chosen Option : 3
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e X1 ke
X > wfewa
v 3 gt
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Question ID : 816161330
Status : Answered
Chosen Option : 3

@ A+ B & YT A B F Rar i
A-BFr 3T g A B Fraga g
AxBF HT T 'A B FraE T
A=+ B HT A B Fradr
I R+SxT-V+UE ASHFUFF d5g?

A o Fer
X2 &

X 3 ofy
X4 og

Question ID : 816161335
Status : Answered
Chosen Option : 2

Q.19 I err Rv 7w & B=E @ 99 0 o Gl o oae § At o s B 3T e o T 9o
Exyl

Ans X1c—~ﬂ%'r
X2 =iy
AR o
<4 grEr

Question ID : 816161329
Status : Answered
Chosen Option: 3
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Q.20 =y & o€ agpfaEt F FES F UF o2 H A FES 1 FF GE@E T | I S G T
%mm;gaw? °

Ans

™ &)

X 4

Question ID : 816161349
Status : Answered

Chosen Option: 3
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Q21 <= Ry ¥ St #T Y 7T S STSH FT AT g9 @ 9T S A R F AT T aer
3T Fr & FEArH @ H9w FH agen Fwen| U v Reedr H @ H9" H S A el Haér
HETHT @ TET HI
4 +B6x7-27T+3=7x8-4+39+3

Ans X1' 8,7
xz 3! 4
XS' 67 4

v 6 8

Question ID : 816161342
Status : Not Answered
Chosen Option : --

Q.22 ?@Wﬂaﬁwmﬂqﬁwmaﬁsﬁrmmwmﬁ,Gﬁm;rﬁﬁr(?)aﬁrmmm
I

10 |4 |7 5
15 |7 |8 25
14 |3 |6 12
10 |? |14 |65
At of 116
X218
X310
X414

Question ID : 816161341
Status : Not Answered
Chosen Option : --

Q.23 37 famed F 909 #Y, Tow SOl FEw ® 3 TEv § S el HEan o uger e ¥ A ol
HEAT T 9reET G H R

¢zl 90 22 108 ¢ 162
ans X1.117

<2126

V'3 135

< 4 144

Question ID : 816161338
Status : Answered
Chosen Option : 3
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Question ID : 816161347

Status : Answered

Chosen Option : 3

Q25 st ¥ 3w waew = TOw FY, B gwer ¥ A T W Fhe W W A I W
sy 3T g ST

_Uvwuv_wvtuw_Uuvwuvy_wv_uw

Ans X1 ttutv
X2otvwtt

2 3 btk i
vottttt

Question ID : 816161331

Status : Answered

Chosen Option : 4
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Q.1 Ozone at the higher level of the atmosphere is a product of acting on oxygen
molecules.

Ans X' 1 xrays
f 2. UV radiation
x 3. IR radiation

x 4. gamma rays

Question ID : 816161355
Status : Answered
Chosen Option : 3

Q.2 s Y fohe @ @ T &7
Ans  of 1t if

X 2. =i
/< 3. @A

/X 4. 2

Question ID : 816161372
Status : Answered
Chosen Option : 3

Q.3 ‘g R A a5 e & o A 8
Ans X 1 Gar diert

75 2. o Gt

X 3. g

W 2 merda

Question ID : 816161367
Status : Answered
Chosen Option : 2

Q.4 S=ad 2020 #, WRd 7 frd 21 & GrY sreRizraToft ok daR & = Rrvg-awg RAfwg erfea &
forg gwgiar 99 W g&aner fhg?

Ans X 1. sficiet
X 2. qem
/X 3. 3u
of 4 sy

Question ID : 816161374
Status : Answered
Chosen Option : 2
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Q.5 o a1 7 133 aféyor gfans @« i Astai Y 4i?
Ans X1 FrerdE

X 2. 9rd

W 3. du

X 4.

Question ID : 816161373
Status : Not Answered
Chosen Option : --

Q.6 fore srgede o sianfq wHe dfdum™ | Harted e dahedt 8?2
Ans  off 1 argeie 368

/X 2. argee 374

75 3. argede 74

/X 4. 3= 269

Question ID : 816161370
Status : Answered
Chosen Option : 1

=

Q.7 i 2019 #, 1. qH. Q. (BSF) ZRT Uil 3R 5107 # uifehear & Syt Har o) e et & forg
Frafaf@e § @ @i @ FRard smiy A v off?

Ans X 1. arey
X 2.8
W 3 T
X 4 wwagp

Question ID : 816161375
Status : Answered
Chosen Option : 2

Q.8 WRd & Hidu # F=fafl@a & 3 fora "eiiem & gR1 ag vy forar war &k gema & e fonsht
31 ASTATAh & A MR ST Y 717 STRAm?

Ans  of 1 504
K 2613
X 3,929
X 4863

Question ID : 816161369
Status : Answered
Chosen Option : 4
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Q.9 &I 9T 3mE.7H. 341, (1ISO) vHTuT gufarur ueie el & Hefdd g2
Ans X 1.9001

/X 2.27001
o 3.14001
/X 4.22000

Question ID : 816161354
Status : Not Answered
Chosen Option : --

Q.10 FRr=faf@a & @ i 1 7y uer &1 U R @I« 82
Ans X1 goef

X 2. wrRE

o 3. e

p R

Question ID : 816161351
Status : Answered
Chosen Option : 4

=

Q.11 ag &= Tt ifAfay a1 e wRa A g=r fAfeer $w sfear o=t @ Mfeer sea A wm=EaRa fr
off?

Ans  of 1 wRa wRER sfafrm, 1858
75 2. wRa weeR fdfEw, 1835
/X 3. 9Rd TR ifdfgm, 1833
75 4. Ra TR ffm, 1947

Question ID : 816161365
Status : Answered
Chosen Option: 1

Q.12 ugs giaei= e, Sit A1fAeh & Aehean giar g, # waft oft 'n' setaei=t @ aifdes i gia &, sei 'n’
& RER giar gl

Ans X" 1.8
22
X 36
X 4.4

Question ID : 816161359
Status : Answered
Chosen Option : 2
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Q.13 Afeat ok It wgraes Afeal & def & FafafEa & @ ot ar gm @&t 82

Ans

75 1. Tiered - st
75 2. o - HiSwRT

W 3. o - fierR
X 4. Riy - geaRd

Question ID : 816161362
Status : Answered
Chosen Option : 3

Q.14 2[R T IITHYT TR #AfRag

Ans

X 1SR
75 2. sgHETETE
X 3.3
W 4. st

Question ID : 816161358
Status : Answered
Chosen Option : 4

Q.15 frg weta afgar frdher 3 2019 o oft. .. 3. (BCC) .. Ararg wiswhersH srftasic

Ans

REHR Sfar?
25 1. g et
75 2. s ggesh
7 3. i Gt
4. siga s

Question ID : 816161371
Status : Answered
Chosen Option: 1

.
Q.16 H& - TATISH QRERR e &3 # ahrer & g wer= frar srar &2

Ans

X 1Tl
X 27a

of 3. o

7 4.z

Question ID: 816161368
Status : Answered
Chosen Option: 3
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Q.17 fF=fafa@d d | fra g &t Har e & ary g e 82
Ans X 1. sreuTREE TR

/X 2. ufgm e

o 3. e

/X 4 RifFwm

Question ID : 816161360
Status : Answered
Chosen Option : 1

Q.18 PR & @ @ a1 g st Y a=rer omeh @ T 22
Ans X 1 g ek SR

o 2. Tt ok wRdangd

/X 3. 5@ 3R gaRr

X 4. vt ok ek

Question ID : 816161364
Status : Answered
Chosen Option: 2

Q.19 =TaE (NABARD) &t ®uTu=T fope o # g8 oft?
Ans X" 1.1979

o 2 1982
/X 3.1981
/X 4.1978

=

Question ID : 816161353
Status : Answered
Chosen Option : 2

Q.20 f=faf@d # @ 9 a1 SIRS Hga TRTR o1 Wt T8 82
Ans X" 1. arelTs eRaTet

/X 2. gge R

o 3. gei et

X 4. Fead-Iet-3H AW

Question ID : 816161352
Status : Answered
Chosen Option: 3
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Q.21 fA=faf@a d @ &F-dt engr afee &2
Ans X" 1 wErem(gaie)
75 2. & 7R (ARew)
(3.1:@%%(3@.@@?)
75 4. SreTif (urgHa)

Question ID : 816161356
Status : Answered
Chosen Option: 3

Q.22 fAAfafEa & & w9 @ g fen & ag= areht 98 &2
Ans x 1. oTg

25 2. g

W 3. s

75 4. sradt

Question ID : 816161361
Status : Answered
Chosen Option : 4

Q.23 fA=faf@a & @ &9 91w HOT & Hh TF (1931) & Geof & Tt @2
Ans X" 1. Rd SYS! vATE Uik e e

#< 2. 59 SrraitoT A Rt Siieler S v mar o

W 3 iR ER S g g o

75 4. wgre i A SifAe &Y sremerdr & off

Question ID : 816161366
Status : Answered
Chosen Option : 2

Q.24 gecft geh G | U= 3181 uR foRem sier e 82
Ans " 120

K 2.24

/X 310

W 415

Question ID : 816161357
Status : Answered
Chosen Option : 4
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Q.25 =T & g g 3R & e &1 TET UM

Ans (1.2??2113118
75 2. FwRam
X3
75 4.z Mg

Question ID : 816161363
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

¥ af@T TEeT g O

113x87 =2

Ans X 1. 10000
v 2 9831
X 310169
X 410026

Question ID : 816161387
Status : Answered
Chosen Option : 2

Q2 w3 &, 310 R /O Fea= F A §1 At Fr g FE=w 12 §) 710 v B0 F et Fr =

1:2 & 3gaa # §1 d0e & o Fas o9 2

Ans X1, 7280
X2 110
X 3 ¥360
v 4 7440

Question ID : 816161382
Status : Answered
Chosen Option : 4

¥ (x—3y)® & x F IOH

Ans xl 3yz

x 2. —3:')'2
X 3 —27y?
W 4 27y?

@

QuestionID : 816161388
Status : Answered
Chosen Option : 4
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Q4 s faferier A7 = gEmERt B 10% w1 T a9 §, AR 9w F ¥ A =i s # 15% "y
W 3T §1 I ol age #r 37,590 F v f9 W= e § o 3uEr 3ovee o 4w 8

Ans 1. 5,000
X 2 ¥5,090
X 3 6,500
v 4 36,000

Question ID : 816161381
Status : Answered
Chosen Option : 4

Q.5 v Rrfem F= F SE, UF FaT F 40 oE fr FE g A 7 B SR afeer &
T &l

g 178 170 |165 |160 (155 |150

cm#) |¥FF (FTFF|VFH|WFA|VFA | A

ot @ |40 35 25 16 8 4

=T

ey T @ F9TE 165 om 70 AT 3
A of 1. 15

<225

X316

<410

Question ID: 816161398
Status : Answered
Chosen Option : 1

Q.6 mﬁ?ﬁﬁ,ﬂﬁﬁgﬁ&ﬁﬁéﬁéScmaﬁTScm%,?ﬁ?ﬁ?ﬂﬂmiﬁrmmﬁm%?

Ans X 1.3 em
v 2 4 cm
<314 cm
<42 em

Question ID : 816161392
Status : Answered
Chosen Option : 2
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7 e gHERUT B g FL

A of 1. 15

Question ID : 816161377
Status : Answered
Chosen Option : 1

Y @y a+i=5 EaA P+ @ AR FT @ET
a a

Ans X110
X 2140
v': 110
X 4 80

Question ID : 816161389
Status : Answered
Chosen Option : 3

Q9 gfr (cos?0— 1)(1+tan?) +2tan?0=1,0°<0 =90° & @ 0 & HF =T 7
Ans x-]. gQ°

< 2 30°

V'3 45°

X 4 60°

Question ID : 816161394
Status : Answered
Chosen Option: 3

Q10 o ww #, 4% oI afis wlewr & e safewa 7@ ge) To s9ftya ot # § 10% o T 7§
SedioT #ET 8 ' AW o # @, 50% o R 3w weg v i 432 o=t & gfiew sedor $,
A 3¢ BfEdeum 2w =l Tfa w%) w@ & o &1 $@ wE o 7

Ans 1. 960
< 2 878
#< 3. 1000

v 21200

Question ID : 816161380
Status : Answered
Chosen Option : 3
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Q11 g 3iv g Mo v & @ 9 e & @ o T §, g 3t R et 53 e o 12
et & qu wv wea €, b wfEm ok RSy Tesw s = 9 18 R # 9w = weg §) ofy wiEe,
e AR farer v wy et F e § ¥ o R F e g s

e X114 fea=
X216 fae
vigR=
X412 fem

Question ID : 816161384
Status : Answered
Chosen Option : 3

Q.12 & =15 ampfer &, 77K AB = 10 em, CD = 7 cm, SD = 4 cm 3R AS = 5 cm, & BC & =@ 719
CaiE

<3 9 cm
<46 em

Question ID : 816161391
Status : Answered
Chosen Option : 1

Q13 o mEEgse ¥ fwol fr sEw 16cm AR 12cm §1 sEH SGa AF AT
Ans o196 cm?

< 2 48 cm?

X 3 69 cm?

X 4 28 cm?

Question ID : 816161386
Status : Answered
Chosen Option : 1
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Q.14 77 god o TEw BT O T S TE 236544 F ) F T 9T M TRC A oo T 4 @
Rrar=m T?

s 1.8
X29
X3 2
x40

Question ID : 816161376
Status : Answered
Chosen Option : 1

Q15 & a§ sy &, afy AB = 8 cm, AC=10 cm, 24BD = 90° 3 AD =17 cm,
ar CD #r w=s foraer 22

A

N~

B C D

Ans - X110 em
<28 cm
v':9cm
<411 cm

Question ID : 816161393
Status : Answered
Chosen Option : 3

Q.16 gr wsfore TR X AR Y w& & WAT W TS A F Higlohe T % H § AR
FHM: 6 km/h 3T 8 km/h @ =TT & TS B #1 3 9 #1 I & gl 15 TAEe de e
¥ A, Y,xﬂ1oﬁa€mq§am%|mmA 3R B ¥ 9 et gt &2

Ans  X'1.16.5 km
< 2 8 km
<36 km
v 410 km

Question ID : 816161385
Status : Not Answered
Chosen Option : --
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Q.17 Ty arfers 5 swa=nfat (A, B, C, D 3R E) & Tey & s v 7 & e sma @ &)

F 3¢ QT Higd T 1
A B c D E

Ecod 52,000 | 48500 |42,000 |31,000 |25000
s o o 1,500 2,500 3,200
Ecocd 5500 (4,500 4,000 3,000 1,500
Eice:d 3,500 |3,000 2,500 2,000 2,000
Tt smo 5,000 3,000 2,000 1,500 o
o 66,000 (59,000 |52,000 |40,000 |31700

ﬁmﬁﬁﬁmﬁﬁ#m#mmm%mﬁgﬁrﬁopm#m@m@
Ans x1~ 1

<24

<33

v 2

Question ID : 816161400
Status : Answered
Chosen Option : 4

Q.18 45 2gf =
TEPIRY _ tand5° F A AT ST

cos60°cos307

as 10
<22
X35
X 4 2-V2

2

Question ID : 816161395
Status : Answered
Chosen Option : 1

AR o
sin0°%sin30%in45%in60°sin90° = 7
Ans x 1.1
<24
V30

; V6
4. 22
o g

Question ID : 816161396
Status : Answered
Chosen Option : 3
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Q20 v gFEER & vF FTUET T W T7,200 F AFT HEA BN 9% 57 W 10% 1 oge &4 ¢ Ak
off 8% T FMT FATA &I TR 97 FE e AL &A1 § o IHHT a1 Fhord F¥AT FrAM?

Ans X1 18%
v 2 20%
X3 9%
X 4 2%

Question ID : 816161379
Status : Answered
Chosen Option : 2

Q.21 ux fafirez a¥ #, v Fow # Af¥ew gt & awilerg oE & vew FGr afeer # s S &
frema Fall Ellt=d Ecrics
B |18 |5 |49 |6 |40 |10 |

Flors H TER T Fol TEAT F, ASHAT FT HA HEAT F T FAT &2

Ans o127 : 23

X< 223:27
<313 : 12
<411

Question ID : 816161399
Status : Answered
Chosen Option : 1

V% T e 45 et sfEeT 1 A g ¥

ES i 700 ¥ (800 & (900 & |1,000 ¥ [1.100 & | 1,200 &
(z &) 800 900 1,000 f1,100 1,200 1,300
st & 4 15 10 10 4 2

HEEar

fraer st 9fa = 71,100 ¥ &7 A0 &2
Ans 1. 43

X2 29

vz 39

X410

Question ID : 816161397
Status : Answered
Chosen Option: 3
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Q23 & a1 smpfay &, AR £4P0=35° ¥, o fer & ¥ F-ar RreT e &7

-

Avs  of 1. LBPO = 35°
X 2 £APB = 80°
X 3 LAPB = 60°
< 4 LBPO = 55°

Question ID : 816161390
Status : Answered
Chosen Option : 1

Q.24 24 ot F T= ¥ v o T B siwa IrEE 50 U T F, 5 et F o 3o od &
TreTer fan w9 AHeg deee 756 & Rt #r oeee e 27

Ans X 1. 356
v'2 7200
X3 7194
X 4 7106

QuestionID : 816161378
Status : Answered
Chosen Option : 2
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Question ID : 816161383
Status : Answered
Chosen Option : 3

Section : English Comprehension
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Q.1 Select the correct passive form of the given sentence.

A child could understand his theory.
Ans J 1. His theory could be understood by a child.

X 2. His theory is being understood by a child.
X 3. His theory was understood by a child.

X 4. His theory can be understood by a child.

Question ID : 816161403
Status : Answered
Chosen Option : 1

Q.2 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. These lotteries organised by State Governments sell dreams.

B. Lured by this, millions of poor people waste their hard-earned money.
C. Crores of rupees and gold are offered as prizes.

D. People buy lotteries hoping to become rich overnight.

Ans X" 1 DBCA

/< 2.CABD
75 3.CBAD
o 4.DACB

QuestionID : 816161414
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate meaning of the given idiom.

Pull a fast one

Ans x 1. Believe someone easily
X 2. Progress fast
( 3. Trick someone

X 4. Take quick action

Question ID : 816161420
Status : Answered
Chosen Option : 2

Q.4 In the sentence identify the segment which contains the grammatical error.

We had a long discussion at a cup of coffee.
Ans X" 1. We had

x 2. of coffee

J 3.atacup

x 4. along discussion

Question ID : 816161402
Status : Answered
Chosen Option : 4
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Q.5 Select the most appropriate option to fill in the blank.

The poor man was entry to the restaurant.
Ans  of 1 deluded

x 2. denied
x 3. derived
x 4. devoid

Question ID : 816161426
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate antonym of the given word.

FICKLE
Ans J 1. Stable

75 2. Flighty
x 3. Crafty
x 4. Subtle

QuestionID : 816161418
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Agra's marble-marvel has such an overwhelming presence (1) other monuments in the
town have been relegated (2) oblivion. Amongst such 60 odd monuments in (3)
town, the Red Taj is the most (4) and relatively well-preserved. The tomb in red

sandstone was (5) by Ann Hessing, widow of a Dutch officer, after his death in 1803.

SubQuestion No : 7
Q.7 Select the correct option to fill in blank 1.

Ans 51 but
X 2. that
o 3 than
X af

Question ID : 816161408
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Agra's marble-marvel has such an overwhelming presence (1) other monuments in the
town have been relegated (2) oblivion. Amongst such 60 odd monuments in (3)

town, the Red Taj is the most (4) and relatively well-preserved. The tomb in red
sandstone was (5) by Ann Hessing, widow of a Dutch officer, after his death in 1803.

SubQuestion No : 8
Q.8 Select the correct option to fill in blank 2.

Ans X' 1.0n
W 210
75 3. with
75 4.by

Question ID : 816161409
Status: Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Agra's marble-marvel has such an overwhelming presence (1) other monuments in the
town have been relegated (2) oblivion. Amongst such 60 odd monuments in (3)

town, the Red Taj is the most (4) and relatively well-preserved. The tomb in red
sandstone was (5) by Ann Hessing, widow of a Dutch officer, after his death in 1803.

SubQuestion No : 9
Q.9 Select the correct option to fill in blank 3.

Ans X 1 their
75 2.an
X 3a
o 2 the

QuestionID : 816161410
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Agra's marble-marvel has such an overwhelming presence (1) other monuments in the
town have been relegated (2) oblivion. Amongst such 60 odd monuments in (3)

town, the Red Taj is the most (4) and relatively well-preserved. The tomb in red
sandstone was (5) by Ann Hessing, widow of a Dutch officer, after his death in 1803.

SubQuestion No : 10
Q.10 Select the correct option to fill in blank 4.

Ans J 1. elegant
X 2. adequate
X 3. efficient
X 4. active

Question ID : 816161411
Status: Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Agra's marble-marvel has such an overwhelming presence (1) other monuments in the
town have been relegated (2) oblivion. Amongst such 60 odd monuments in (3)

town, the Red Taj is the most (4) and relatively well-preserved. The tomb in red
sandstone was (5) by Ann Hessing, widow of a Dutch officer, after his death in 1803.

SubQuestion No : 11
Q.11 Select the correct option to fill in blank 5.

Ans X" 1. building
o 2. built
75 3.t0 build
75 4. build

Question ID : 816161412
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate synonym of the given word.

DISHEARTENED
Ans " 1. disliked

J 2. depressed
x 3. disgusted
X 4. disgraced

QuestionID: 816161416
Status : Answered
Chosen Option: 2
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Q.13 Select the most appropriate synonym of the given word.

CORDIAL
Ans x 1. hard

x 2. cold
( 3. warm
x 4. rude

Question ID : 816161415
Status : Answered
Chosen Option : 3

Q.14 Select the INCORRECTLY spelt word.
Ans X" 1. Opportunity
x 2. Obsolete

( 3. Omision

x 4. Obscure

Question ID : 816161424
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate meaning of the given idiom.

See eye to eye
Ans x 1. See clearly

x 2. Stare at someone
x 3. Be suspicious

( 4. Agree with someone

QuestionID : 816161419
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate one word substitution for the given group of words.

Pertaining to an individual from birth
Ans X" 1 Habitual

X 2. Anomaly

x 3. Chronic

( 4. Congenital

Question ID : 816161422
Status : Answered
Chosen Option : 4
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Q.17 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. These are generated by a violent undersea disturbance or ocean activity.
B. Once generated, they travel outward on the ocean surface in all directions.
C. A tsunami is made up of a series of very long waves.

D. Spreading thus, they look like ripples caused by throwing a rock in a pond.

Ans X" 1 BDCA

#< 2.CBDA
o 3.crBD
75 4.BADC

QuestionID : 816161413
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate antonym of the given word.

HASTE
Ans X" 1. Lose

X 2. Dash
75 3.Rush
( 4. Delay

Question ID : 816161417
Status : Answered
Chosen Option : 4

Q.19 In the sentence identify the segment which contains the grammatical error.

The both children go to the same school.
Ans x 1.to the

x 2. same school

X 3. children go
J 4. The both

Question ID : 816161401
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

They stopped to laugh as soon as the teacher entered the classroom.
Ans J 1. stopped laughing
X 2. No improvement
x 3. stop laughing
X 4. stopped laugh

Question ID : 816161405
Status : Answered
Chosen Option : 1
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Q.21 Select the most appropriate one word substitution for the given group of words.

To increase the speed
Ans X" 1. Assimilate

x 2. Exhilarate
J 3. Accelerate

x 4. Activate

Question ID : 816161421
Status : Answered
Chosen Option : 3

Q.22 Select the most appropriate option to fill in the blank.

Have you
Ans X" 1 approved

J 2. applied
x 3. appointed
x 4. supplied

for a job in this company?

Question ID : 816161425
Status : Answered
Chosen Option : 2

Q.23 Select the correct indirect form of the given sentence.

Mahesh said to Rita, "Don't play in the sun.’

Ans J 1. Mahesh advised Rita not to play in the sun.
x 2. Mahesh told to Rita to not play in the sun.
x 3. Mahesh requested Rita that don't play'in the sun.

X 4. Mahesh ordered Rita that not play in the sun.

Question ID : 816161404
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

If they will get married , they will probably settle in Mumbai.
Ans X" 1. No improvement

J 2. If they get married
x 3. If they will be getting married
x 4. If they had got married

Question ID : 816161406
Status : Answered
Chosen Option : 2
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Q.25 Select the INCORRECTLY spelt word.

Ans

x 1. Rebel
( 2. Delegait

x 3. Monarch

/X 4. Edible

Question ID : 816161423
Status : Answered
Chosen Option : 1
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